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QUESTION 1

A DevOps engineer needs to back up sensitive Amazon S3 objects that are stored within an S3 bucket with a private
bucket policy using S3 cross-Region replication functionality. The objects need to be copied to a target bucket in a
different AWS Region and account. 

Which combination of actions should be performed to enable this replication? (Choose three.) 

A. Create a replication IAM role in the source account 

B. Create a replication I AM role in the target account. 

C. Add statements to the source bucket policy allowing the replication IAM role to replicate objects. 

D. Add statements to the target bucket policy allowing the replication IAM role to replicate objects. 

E. Create a replication rule in the source bucket to enable the replication. 

F. Create a replication rule in the target bucket to enable the replication. 

Correct Answer: ADE 

S3 cross-Region replication (CRR) automatically replicates data between buckets across different AWS Regions. To
enable CRR, you need to add a replication configuration to your source bucket that specifies the destination bucket, the
IAM role, and the encryption type (optional). You also need to grant permissions to the IAM role to perform replication
actions on both the source and destination buckets. Additionally, you can choose the destination storage class and
enable additional replication options such as S3 Replication Time Control (S3 RTC) or S3 Batch Replication.
https://medium.com/cloud-techies/s3-same-region-replication-srr-and-cross-region-replication-crr-34d446806bab
https://aws.amazon.com/getting-started/hands-on/replicate-data-using-amazon-s3-replication/
https://docs.aws.amazon.com/AmazonS3/latest/userguide/replication.html 

 

QUESTION 2

A company is implementing AWS CodePipeline to automate its testing process 

The company wants to be notified when the execution state fails and used the following custom event pattern in
Amazon EventBridge: Which type of events will match this event pattern? 
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A. Failed deploy and build actions across all the pipelines 

B. All rejected or failed approval actions across all the pipelines 

C. All the events across all pipelines 

D. Approval actions across all the pipelines 

Correct Answer: B 

Action-level states in events 

Action state Description 

STARTED The action is currently running. 

SUCCEEDED The action was completed successfully. 

FAILED For Approval actions, the FAILED state means the action was either rejected by the reviewer or failed due to an
incorrect action configuration. CANCELED The action was canceled because the pipeline structure was updated. 

 

QUESTION 3

A company manages an application that stores logs in Amazon CloudWatch Logs. The company wants to archive the
logs to an Amazon S3 bucket Logs are rarely accessed after 90 days and must be retained tor 10 years. 

Which combination of steps should a DevOps engineer take to meet these requirements? (Select TWO.) 
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A. Configure a CloudWatch Logs subscription filter to use AWS Glue to transfer all logs to an S3 bucket. 

B. Configure a CloudWatch Logs subscription filter to use Amazon Kinesis Data Firehose to stream all logs to an S3
bucket. 

C. Configure a CloudWatch Logs subscription fitter to stream all logs to an S3 bucket. 

D. Configure the S3 bucket lifecycle policy to transition logs to S3 Glacier after 90 days and to expire logs after 3.650
days. 

E. Configure the S3 bucket lifecycle policy to transition logs to Reduced Redundancy after 90 days and to expire logs
after 3.650 days. 

Correct Answer: BD 

https://docs.aws.amazon.com/AmazonCloudWatch/latest/logs/SubscriptionFilters.html 

 

QUESTION 4

A company\\'s application is currently deployed to a single AWS Region. Recently, the company opened a new office on
a different continent. The users in the new office are experiencing high latency. The company\\'s application runs on
Amazon EC2 instances behind an Application Load Balancer (ALB) and uses Amazon DynamoDB as the database
layer. The instances run in an EC2 Auto Scaling group across multiple Availability Zones. A DevOps engineer is tasked
with minimizing application response times and improving availability for users in both Regions. 

Which combination of actions should be taken to address the latency issues? (Choose three.) 

A. Create a new DynamoDB table in the new Region with cross-Region replication enabled. 

B. Create new ALB and Auto Scaling group global resources and configure the new ALB to direct traffic to the new Auto
Scaling group. 

C. Create new ALB and Auto Scaling group resources in the new Region and configure the new ALB to direct traffic to
the new Auto Scaling group. 

D. Create Amazon Route 53 records, health checks, and latency-based routing policies to route to the ALB. 

E. Create Amazon Route 53 aliases, health checks, and failover routing policies to route to the ALB. 

F. Convert the DynamoDB table to a global table. 

Correct Answer: CDF 

C. Create new ALB and Auto Scaling group resources in the new Region and configure the new ALB to direct traffic to
the new Auto Scaling group. This will allow users in the new Region to access the application with lower latency by
reducing the network hops between the user and the application servers. 

D. Create Amazon Route 53 records, health checks, and latency-based routing policies to route to the ALB. This will
enable Route 53 to route user traffic to the nearest healthy ALB, based on the latency between the user and the ALBs. 

F. Convert the DynamoDB table to a global table. This will enable reads and writes to the table in both Regions with low
latency, improving the overall response time of the application 
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QUESTION 5

An application runs on Amazon EC2 instances behind an Application Load Balancer (ALB). A DevOps engineer is using
AWS CodeDeploy to release a new version. The deployment fails during the AlIowTraffic lifecycle event, but a cause for
the failure is not indicated in the deployment logs. 

What would cause this? 

A. The appspec. yml file contains an invalid script that runs in the AllowTraffic lifecycle hook. 

B. The user who initiated the deployment does not have the necessary permissions to interact with the ALB. 

C. The health checks specified for the ALB target group are misconfigured. 

D. The CodeDeploy agent was not installed in the EC2 instances that are pad of the ALB target group. 

Correct Answer: C 

This failure is typically due to incorrectly configured health checks in Elastic Load Balancing for the Classic Load
Balancer, Application Load Balancer, or Network Load Balancer used to manage traffic for the deployment group. To
resolve the issue, review and correct any errors in the health check configuration for the load balancer. https://docs.aws.
amazon.com/codedeploy/latest/userguide/troubleshooting-deployments.html#troubleshooting-deployments-allowtraffic-
no-logs 

Latest DOP-C02 Dumps DOP-C02 VCE Dumps DOP-C02 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest DOP-C02 Dumps | DOP-C02 VCE Dumps | DOP-C02 Practice Test                                5 / 5

https://www.pass2lead.com/dop-c02.html
https://www.pass2lead.com/dop-c02.html
https://www.pass2lead.com/dop-c02.html
http://www.tcpdf.org
https://www.pass2lead.com/dop-c02.html
https://www.pass2lead.com/dop-c02.html
https://www.pass2lead.com/dop-c02.html

